DISCHARGE - GPM [I/min]

SERIES: 3611, 3711, 4611, 4711
GRAPH 1
THEORETICAL GPM

ACTUAL DELIVERY IN GPM [I/min] = GRAPH 1 - GRAPH 2
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SLIP - GPM [I/min]
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SERIES: 3611, 3711, 4611, 4711
GRAPH 2

SLIP

GRAPH 1 - GRAPH 2

ACTUAL DELIVERY IN GPM [l/min]
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INPUT HP [KW]

SERIES: 3611, 4611, 3711, 4711

GRAPH 3
INPUT HORSEPOWER

6 [45] TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4
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SERIES: 3611, 3711, 4611, 4711
| GRAPH 4
s e et VISCOUS HORSEPOWER

liquids.
quies TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4
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SPEED (RPM)

3611,3711,3617,3717,3622,3722,4611,4711,4617,4717,4622,4722
REQUIRED NET INLET PRESSURE
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PRESSURE - PSI
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PRESSURE - PSI
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